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Answers

1. no

2. no

3. yes

4. no

5. yes

6. yes

7. no

8. no

9. yes

10. no

11. no

12. yes

13. yes

14. no

15. yes

16. no

17. yes

18. yes

19. no

20. yes

Determine if the answer shown is reasonable (yes) or not (no).

• Anything times 2 HAS to end in an even number (2,4,6,8,0). Ex. 2 × 6 = 12 2 × 13 = 26

• Anything times 5 HAS to end in an either a 5 or a 0. Ex. 5 × 4 = 20 5 × 15 = 75

• Anything times 10 HAS to end in a 0. Ex. 10 × 7 = 70 10 × 16 = 160

1) 133 × 5 = 667 2) 680 × 2 = 1,361

3) 362 × 2 = 724 4) 703 × 10 = 7,038

5) 560 × 2 = 1,120 6) 5 × 637 = 3,185

7) 711 × 10 = 7,118 8) 10 × 361 = 3,619

9) 743 × 2 = 1,486 10) 344 × 2 = 689

11) 10 × 279 = 2,794 12) 862 × 10 = 8,620

13) 796 × 5 = 3,980 14) 5 × 750 = 3,753

15) 320 × 10 = 3,200 16) 2 × 672 = 1,345

17) 10 × 180 = 1,800 18) 716 × 2 = 1,432

19) 5 × 830 = 4,151 20) 5 × 816 = 4,080



Name: Answer KeyDetermining Reasonable Answer

Math www.CommonCoreSheets.com 9

Answers

1. no

2. no

3. yes

4. no

5. yes

6. yes

7. no

8. no

9. yes

10. no

11. no

12. yes

13. yes

14. no

15. yes

16. no

17. yes

18. yes

19. no

20. yes

Determine if the answer shown is reasonable (yes) or not (no).

• Anything times 2 HAS to end in an even number (2,4,6,8,0). Ex. 2 × 6 = 12 2 × 13 = 26

• Anything times 5 HAS to end in an either a 5 or a 0. Ex. 5 × 4 = 20 5 × 15 = 75

• Anything times 10 HAS to end in a 0. Ex. 10 × 7 = 70 10 × 16 = 160

1) 133 × 5 = 667 2) 680 × 2 = 1,361

3) 362 × 2 = 724 4) 703 × 10 = 7,038

5) 560 × 2 = 1,120 6) 5 × 637 = 3,185

7) 711 × 10 = 7,118 8) 10 × 361 = 3,619

9) 743 × 2 = 1,486 10) 344 × 2 = 689

11) 10 × 279 = 2,794 12) 862 × 10 = 8,620

13) 796 × 5 = 3,980 14) 5 × 750 = 3,753

15) 320 × 10 = 3,200 16) 2 × 672 = 1,345

17) 10 × 180 = 1,800 18) 716 × 2 = 1,432

19) 5 × 830 = 4,151 20) 5 × 816 = 4,080

1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0


